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A 598 | 5H9H | 5H9H | 5898 | 5A9H | 5H16H | 5H16H | 5H16H | 5H16H | 5H16H | 5H16H
M °C 17.0 20.0 27.0 18.0 21.0 22.0 24.0 21.0 245 21.0 21.0
KR °C 15.0 16.0 17.0 17.5 15.5 18.0 19.0 15.5 17.0 14.0 16.5
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ERXRVZDMIEEY 001meg/LELTF | HRETA] HRE HRE HREH HRE HRE A HBRE T 0.002 HRET HRE T HRET
NEZaLIEEY 0.02mg/LEL T 0.002Ki# | 0.002FKi# | 0.002FKi# | 00025k | 0.002%K#E | 0.002%KH
TN EYMRUEILS T [001me/LUT 0.0013R# | 0.0013K% | 0.001K{#E | 0.001KjE | 0.001FKjH | 0.001FKE
7 0.6mg/LELTF 0.065Ki# | 006K | 006K | 006Ki#E | 006K | 006K
HO0OBEEE 0.02meg/LELF 0.002:K7# | 0.0025Ki# | 00025 | 0.002Ki# | 0.002K# | 0.002KiH
vi=Inl, JIWN 0.06mg/LELTF 0.001 0.001%k % 0.005 0.005 0.009 0.0015k %
SHOOREER 0.03mg/LILTF 0.003kj#% | 0.003kj#% | 0.003kK% | 0.003%k% | 0.003%KjE | 0.003%kKH
CJOF/OAA3Y 0.1me/LELTF 0.002 0.001 0.001K;# 0.002 0.003 0.001
EEF 001meg/LELF 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001KiH
WK AOARY 0.1mg/LEATF 0.005 0.002 0.007 0.011 0.019 0.001
cJ4OOEEES 0.03mg/LELTF 0.003Ki# | 0.003KH 0.004 0.003 0.005 0.003 K jifs
JOESHOO0ALY 0.03mg/LELTF 0.002 0.001 0.002 0.004 0.007 0.001 K i
JOEHRILL 0.09me/LELTF 0.0013Ri#% | 0.001K% | 0.001K{®E | 0.001kjE | 0.001KjE | 0001k
HRILLTILTER 0.08me/LELTF 0.0085Ki#% | 0.008%ki% | 0.008k% | 0.008kj& | 0.008kKi% | 0008k
FILZIZOLRUVZFDIEEY 02mg/LLT HREAE] HREE] HRE] HHEA] 0.11 HBET
tEiemAA> 200mg/LEAT 35 6.3 6.7 38 3.9 6.1 5.0 2.4 4.7 3.1 3.1
Ay 3mg/LELTF 0.5 0.5 0.4 0.8 05 0.3 0.3 0.4 05 0.5 0.3
pH{E 58LIEBGLIT|  7.28 7.13 7.10 7.31 7.42 6.67 6.57 6.80 6.82 6.68 6.60
73 2xoance BEELGL | BEGL | EELGL | BELQL | E84L | BELGL EEGL BEGL 2EEEL BELGL 2EEEL
ER 2xoanoe BELGL | BEAGL | EELGL | EEBLGL | EBGL | BEGL EEiGL BELGL 2EEEL BELGL 2EEEL
‘B SELLT 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R
I 2ELLT 01K | O01K{ | 01K | 01K | 01K7G 0.15K & 0.1 ik 0.15K & 0.1k 0.1 0.1k
WiEh R %= B me/L 0.40 0.10 0.30 0.40 0.30 0.30 0.40 0.40 0.20 0.20 0.10




